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1. In the circuit below iD and RD model a photodiode in a fiberoptic receiver. Find R1 and vos such that

vo = RxiD + vb (1)

Parameter: RD = kΩ, Rx = kΩ, vb = mV.

R1 =
10 pts.

0

vos =
15 pts.
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2. Find the value of I1 and R4 such that the power dissipated in R2 is PR2 = mW and v5 = V.

Parameter: I2 = mA, V1 = V, R1 = kΩ, R2 = kΩ, R3 = kΩ, R5 = kΩ.

I1 =
10 pts.

2

R4 =
15 pts.
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3. Find component values such that all three circuits shown behave identically.

Parameter: I1 = mA, V1 = V, R1 = kΩ and R2 = kΩ.

VT =
7 pts.

4

RT =
6 pts.

5

IN =
6 pts.

6

RN =
6 pts.
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4. Precision opamps come particularly close to the specifications of “ideal” amplifiers, but usually cannot drive
low resistance loads RL. In the circuit below, the “precision opamp” sets vo, while the “power opamp” delivers
the load current iL. Determine R1 such that io = 0. Hint: this condition is met when iL + ix = 0.

Parameter: R2 = kΩ, RL = Ω, Rx = Ω.

R1 =
25 pts.
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